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VERSION 1 
 

DO NOT BEGIN WORKING 
UNTIL THE INSTRUCTOR TELLS YOU TO DO SO. 

READ THESE INSTRUCTIONS FIRST. 
 
You have the class period of 50 minutes to complete the exam. The exam consists of three parts: 5 
true/false questions, 12 multiple choice questions, and 1 problem. Each true/false question is worth 
2 points for a total of 10 points, each multiple choice question is worth 3 points for a total of 36 
points, and the problem is worth 14 points. Please answer all true/false questions and multiple 
choice questions on the coding sheet with a #2 pencil. Choose the best answer. Answer the problem 
on the exam booklet. Please make sure you write legibly and are clear about the solution to the 
problem. No calculators are allowed. Please fill out the blanks at the top of the exam booklet. 
There are 11 pages in this exam booklet. 
 
How to fill in the coding sheet: 
1. Print your last name, first name, and middle initial in the spaces marked “Last Name,” “First 

Name,” and “MI.” Fill in the corresponding bubbles below.  
2. Print your student ID number in the space marked “Identification Number.” Fill in the 

corresponding bubbles below. 
3. Write your discussion section number under “Special Codes” spaces ABC, and fill in the 

bubbles. You can find the discussion numbers below on this page.  
4. Write your version number under “Special Codes” space D, and fill in the bubble. 
 
• If you have any questions during the exam, stay seated and raise your hand.  
• When you are finished, please get up quietly and bring your code sheet and this exam booklet to 

the place indicated by the instructors.  
 
DISCUSSION SECTIONS: 
 
Disc 381 9:55W 215 Ingraham Oya Ardic Disc 390 2:25R 6228 Soc Sci Seungmoon Choi 
Disc 382 11:00W 115 Ingraham Oya Ardic Disc 391 3:30R 1412 Sterling Seungmoon Choi 
Disc 383 12:05W 6102 Soc Sci Tsung-Sheng Tsai Disc 392 9:55F B333 Van Vleck Seungmoon Choi 
Disc 384 1:20W 6310 Soc Sci Tsung-Sheng Tsai Disc 393 9:55F 122 Ingraham Tsung-sheng Tsai 
Disc 385 2:25W 55 Bascom Zhonghua Wu Disc 395 12:05F B129 Van Vleck Seungmoon Choi 
Disc 386 3:30W 6314 Soc Sci Zhonghua Wu Disc 396 11:00F 14 Ingraham Seungmoon Choi 
Disc 387 11:00R 6322 Soc Sci Zhonghua Wu Disc 397 11:00F B305 Van Vleck Tsung-Sheng Tsai 
Disc 389 12:05R 114 Ingraham Zhonghua Wu Disc 398 12:05F 23 Ingraham Tsung-Sheng Tsai 
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PART I: TRUE/FALSE QUESTIONS (2 points each: Allow 5 minutes) 
 
On the coding sheet, darken choice A if you think the statement is TRUE, and darken choice B if 
you think the statement is FALSE. 
 
Question 1: Heather consumes two goods: pencils and envelopes. In 1998, Heather had $10 to 
spend and in 1998 the price of a pencil was $1and the price of an envelope was $2. In 1999, Heather 
had $40 to spend and in 1999 the price of a pencil was $4 and the price of an envelope was $2. 
Suppose that we plot pencils on the horizontal axis and envelopes on the vertical axis. Heather’s 
1999 budget line has a greater horizontal intercept and a greater vertical intercept than her 1998 
budget line. 
 

A. True 
B. False 

 
 
Question 2: If no close substitute for butter (such as margarine) existed, the demand for butter 
would be more inelastic. 
 

A. True 
B. False 

 
 
Question 3: If my price elasticity of demand for good X is –0.25, then a decrease in the price of 
good X will reduce my consumer expenditure on this good. 
 

A. True 
B. False 

 
 
Question 4: Tom consumes only three goods: food (F), clothing (C), and entertainment (E). The 
prices of these three goods are PF, PC, and PE respectively. Tom’s income is denoted by I. If 

EPCPIFP ECF ... −−<− , then Tom is not spending his entire income. 
 

A. True 
B. False 
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Question 5: Alice consumes two goods: CDs and generic macaroni and cheese. The following 
graph shows Alice’s budget line and one of her indifference curves: 
 
     CD 
 
  C 
 
 
   B 
   
  A 
 
 
     Macaroni & cheese 
 
Irrespective of income and prices, Alice prefers bundle A to bundles B and C. 
 

A. True 
B. False 
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PART II: MULTIPLE CHOICE QUESTIONS (3 points each: allow 24 minutes) 
 
 
Question 6: A local power company raises the price of electricity. The price increase will increase 
the company’s revenues: 
 

A. no matter what the elasticity of demand for electricity is.  
B. only if the demand for electricity is elastic. 
C. only if the demand for electricity is inelastic. 
D. only if the demand for electricity is unit elastic. 
E. we don’t know whether the company’s revenue will increase even if we know the price 

elasticity of demand. 
 
 
Question 7: 
 
Soft Drinks 
 
 
 
 
8 
 
 
 
 
 
  A 
 
 
   B       C 
 
 
 
 
 
 
 
0 
            4          8       Milkshakes 
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Ed’s budget and preferences are shown in the graph above. (The graph is not necessarily drawn to 
scale.) He has $8 per week to spend on soft drinks and milkshakes. Initially, the price of a soft drink 
is $1, and the price of a milkshake is $2. Given these prices, Ed chooses to consume bundle A. 
However, after a couple of weeks, the price of a milkshake decreases to $1, and Ed chooses bundle 
C instead.  Which of the following statements is TRUE?  
 

A. The income effect is from point A  to point B. 
B. The income effect is from point C to point A. 
C. The income effect is from point B to point C. 
D. The substitution effect is from point B to point C. 
E. The substitution effect is from point A to point C. 
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Question 8: If good X is inferior, the income elasticity of good X will be: 
 

A. 0 
B. 0.5 
C. 1 
D. negative 
E. positive 

 
 
Question 9: The market for rice has a VERY INELASTIC demand while the price elasticity of 
supply is 1. Suppose the government imposes an excise tax on the producers of this market. Which 
of the following statements is TRUE? 
 

A. The economic burden of the tax falls on producers and consumers equally. 
B. The consumers bear most of the economic burden of the tax. 
C. No matter how inelastic the demand curve is, the seller must bear most of the economic 

burden of the tax.  
D. The tax on this good results in relatively large tax revenues while simultaneously 

discouraging consumption of the good. 
E. (B) and (D) 

 
 
Question 10: Suppose the market for corn (quantities in tons) has the following demand and supply 
functions: 

Supply:  QP =  
Demand: QP 212 −=  

Now the government considers implementing either a price support program or a price subsidy 
program. Suppose the price support program has a price floor of $5 while the subsidy program has a 
guaranteed price of $5. Which of the following statements is TRUE? 
 

A. Under the price support program the government needs to buy 0.5 tons of corn from the 
producers.   

B. Under the subsidy program the maximum price the government can RESELL the corn to the 
consumers is $5. 

C. The cost for the government to implement the price support program is $20.    
D. The cost for the government to implement the subsidy program is $20.  
E. If we only compare the direct expenditure of the government for these two programs, the 

subsidy program costs more.  
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Question 11: The market for a specific brand of sugar is shown in the following figure. In this 
figure, the demand curve is a horizontal line and the supply curve is a straight line with a positive 
slope. 

 
 
  
 
 
 
 
 
 
 
 
 
 
 
 PE is the equilibrium price BEFORE the tax and QE is the equilibrium price BEFORE the tax. 

Suppose the government wants to impose an excise tax on the producers of this brand of sugar, 
which is $1 per pound. Which of the following statements is TRUE? 

 
A. There must be a loss in consumer’s surplus after the tax is imposed. 
B. The consumers bear an economic share of the tax even if the producers have the legal 

responsibility to collect the tax.   
C. The producers bear the whole economic burden of the tax. 
D. There is no deadweight loss; that is, this tax is efficient.  
E. Tax revenues will increase if the government raises the level of the excise tax. 

 
 
Question 12: Emily spends her entire income on movies and popcorn. The price of a movie is $8 
and the price of popcorn is $2. At these prices, Emily chooses her optimal bundle, which is (4 
movies, 2 popcorn). Assuming that we plot movies on the horizontal axis and popcorn on the 
vertical axis, what is the slope of the indifference curve at the optimal bundle?  
 

A. –4 
B. –1/4 
C. –2 
D. –1/2 
E. None of the above. 

 

  
      P  
    S 
 
 
     PE           D 
  
 
 
            
              Q 
  QE   
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Question 13: The following figure provides a graph of an individual’s budget line for two goods, 
apples and bananas. The graph is not necessarily drawn to scale.  

 
         Bananas 
 
                    8 
 
 
 
 
 
                    2                
 
 
 
                 
                                     3         4                            Apples 

 
Which of the following is TRUE? 
 

A. The price of an apple is $4 and the price of a banana is $12. 
B. The price of an apple is $4 and the price of a banana is $8. 
C. The price of an apple is $10 and the price of a banana is $5. 
D. The price of an apple is $5 and the price of a banana is $10. 
E. The price of an apple is $12 and the price of a banana is $4 

 
 
Question 14: Al eats only burgers and fries. In a regular fast food place, the price of a burger is 
$2.00 and the price of a basket of fries is $1.00. At his current consumption bundle, Al’s marginal 
utility of consuming 1 more burger is 20 and his marginal utility of consuming 1 more basket of 
fries is 15. Given this information, which of the following is FALSE? 
 

A. Al’s current consumption bundle maximizes his utility. 
B. In order to maximize his utility, Al should consume more burgers and fewer fries. 
C. Al’s total utility is 35 at his current consumption bundle. 
D. (A) and (B) 
E. (A), (B) and (C) 
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Question 15: Laura is contemplating consuming bundle A in the figure below: 

 
                   Y     
 
 
 
                                   A 
                                  
                                             Laura’s Budget Line 
 
 
 
                                                                            One of Laura’s       
                                                                            Indifference Curves             
 
                                                                                         X 
 
Given the information in the figure, which of the following statements is TRUE? 
 
A. Point A is Laura’s optimal bundle since the indifference curve intersects the budget line at 

point A. 
B. At point A, the slope of the indifference curve equals the slope of the budget line. 
C. Laura can find another point that she can afford such that this new point is on a higher 

indifference curve than the indifference curve drawn in the figure. 
D. Laura is not using all of her income at point A. 
E. At point A, the marginal utility of spending one more dollar on good X equals the marginal 

utility of spending one more dollar on good Y. 
 
 
Question 16: Using the information in the table below, which of the following statements is 
TRUE? 
 

Year CPI Nominal Wage 
1980 100 (base year) $6/hour 
1990 200 $10/hour 
2000 300 $12/hour 

 
A. The real wage is increasing from 1980 to 2000. 
B. The real wage is decreasing from 1980 to 2000. 
C. The real wage in 1990 is $8/hour. 
D. The real wage in 2000 is greater than the nominal wage in 2000. 
E. (A) and (D) 
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Question 17:  
 
  Bread 
  BL3 
 
 
 
  BL2 
           IC1    IC2    IC3  
  BL1 
              A  B     C 
   
 
 
 
       Caviar 
 
In the graph above, Bob’s three indifference curves (IC1, IC2, and IC3) are drawn along with three 
budget lines (BL1, BL2, and BL3). Bob’s income is the same in all three budget lines, however, the 
price of bread is different in each case. Which of the following statements is FALSE? 
 

A. Bob’s demand for bread is perfectly elastic. 
B. Bob prefers bundle B to bundle A. 
C. If Bob’s budget line is BL3, Bob maximizes his utility by choosing bundle C. 
D. The price of bread implied by BL2 is greater than the price of bread implied by BL1 but 

smaller than the price of bread implied by BL3. 
E. (A) and (D)  



 11 

PART III: PROBLEM (14 points: allow 21 minutes) 
 
Please write legibly. Make sure to show ALL your work. You may not receive any credit if you fail 
to show your work. Put your answers in the blanks provided. 
 
The demand and supply equations for widgets are given as: 
  
 Demand: DQP −= 12  
 Supply:  SQP 2=  
 

A. Find the equilibrium price and quantity in the widget market (2 points) 
 
 
 
 
 
 
 
 The equilibrium price is: _____ 
 The equilibrium quantity is: _____ 
 

B. An excise tax of $3/unit is levied on the producers of widgets. Find the new equilibrium 
price and quantity. What is the amount of tax revenues generated? (3 points) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
The new equilibrium price is: ____ 

 The new equilibrium quantity is: ____ 
 Tax revenues: ____ 
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C. Suppose instead of the initial supply curve, the supply curve is given by: SQP
2
1

= . The 

demand curve is still the same as before. Find the equilibrium price and quantity. What will 
be the equilibrium price and quantity if an excise tax of $3/unit is levied on widgets in this 
case? What will be the tax revenues? (3 points) 

 
 
 
 
 
 
 
 
 
 
 
  
  
 
 The equilibrium price before tax is: ____ 
 The equilibrium quantity before tax is: ____ 
 The equilibrium price after tax is: ____ 
 The equilibrium quantity after tax is: ____ 
 Tax Revenues:____ 
 

D. Compare the economic burden of the tax in part (B) to that in part (C). Hint: In your answer 
make sure you consider the relative magnitude of the economic burden for consumers and 
producers in each case. Discuss why these differences might arise. (6 points) 

 
 
 
 
 
 
 
 
 
 
 
 
            A: ____ 
            B: ____ 
            C: ____ 
            D: ____ 
                 Total: ____ 


